
3601 S. Banker St. Effingham, IL 62401  •  P.O. BOX 609  •  Ph: (888) 431-2667  •  Fax: (800) 433-2667

sales@johnboos.com

www.johnboos.com

ASSEMBLY INSTRUCTIONS  
FOR CUCINA CULINARTE´

PARTS:
(1)	 CART TOP
(3)	 STAINLESS SHELVES
(4)	 LEGS
(1)	 TOWEL BAR

HARDWARE:
(26)	 1/4" WASHERS
(24)	 1/4" NUTS
(24)	 1/4"X1" MACHINE BOLT
(4)	 CASTERS

TOOLS REQUIRED:
-	 7/16" WRENCH OR SOCKET/RATCHET
-	 PHILLIPS SCREW DRIVER

INSTRUCTIONS:
1.	REMOVE ALL CONTENTS OF BOX. SEPARATE THE HARDWARE AND PARTS
2.	ATTACH THE SHELVES TO THE LEGS USING 2EA 1/4"X3/8" PHILLIPS HEAD BOLTS W/ NUTS & WASHERS PER LEG. DO NOT 		
	 FULLY TIGHTEN AT THIS TIME. (SEE PICTURE ON BACK OF SHEET FOR SHELF ORDER.)
3.	GO BACK AND FULLY TIGHTEN BOLTS.
4.	SECURE CASTERS INTO BOTTOM OF LEGS BY PUSHING IN UNTIL THEY SNAP INTO PLACE.
5.	ATTACH TOWEL BAR ONTO SHELF (HOLES PRE-DRILLED) WITH 1/4" X 1" MACHINE BOLTS & WASHERS.
6.	TURN UNIT RIGHT SIDE UP AND PLACE REMOVABLE WOOD TOP BETWEEN LEGS, SETTING ON UPPER SHELF. BE SURE TO 		
	 FOLLOW MAINTENANCE AND CARE GUIDELINES.

061319

NOTE: IF CASTERS ARE HARD TO INSERT INTO LEG, 
CRIMP SNAP RING ON CASTER STEM WITH NEEDLE 
NOSE PLIERS AND TRY TO RE-INSERT CASTER.



sales@johnboos.com

www.johnboos.com
061319


